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Word Problems Worksheet:

1. Tina withdrew $26 from her back account each week for 17 weeks. What was the total amount Tina withdrew over 17 weeks? (Show your work using integers).

2. The temperature of still, dry air decreases by about 6 °C for each kilometre increase in altitude. A weather balloon was launched from The Pas, Manitoba, on a still, dry day.

a. If the temperature on the ground was 4 °C, what was the approximate temperature 11 km above ground?

b. If the balloon descended to 5 km above ground, about how much did the temperature change during the descent from 11 km above ground?

3.  Lucy made withdrawals of $14 from her bank account. She withdrew a total of $98. How many withdrawals did she make?

4. A rock fell over a 42-metre cliff and landed on the ground after 6 seconds. 

a. What distance does the rock travel per second?

b.  How far does the rock fall after 10 seconds?

5. The temperature of still, dry air decreases by about 6°C for each kilometre increase in altitude. On a still dry day, the temperature in Yellowknife, Northwest Territories, was -11 °C. The air temperature outside a plane flying above Yellowknife was -53°C.

a. Approximately how much lower was the temperature outside the aircraft than the temperature in Yellowknife?

b. How high was the aircraft above Yellowknife?
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1. Tim earns $11/hr at a donut shop. If he works overtime, he is paid $15/hr. If Tim
works over 40 hours, he gets overtime pay. This week, Tim worked 46 hours.
How much did he earn?

2. Jesse works for a t-shirt company. The t-shirts are made for $8 and are bought in
bulk by store owners for $12 each.
(@) How much will it cost a store owner to buy 450 t-shirts?

(b) How many t-shirts can a store owner get for $6300?

(c) How much profit will a store owner make if he sells 200 t-shirts for $24.997
What's the profit for the t-shirt company?

3. The population of rabbits were 523 in 1983. In 1991, the population of rabbits
were 107. What is the rate of decrease of the rabbit population per year?

4. Kathy has $125 in her savings account. She owes a friend $350. Once a week,
she gets paid $25 dollars for babysitting. How many weeks of babysitting does
Kathy need to do in order for her to pay her friend?

5. The sum of two integers is -11. The product of the same two integers is 28. What
are the two integers?




